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Question 1
Question Type: MultipleChoice

When changing legacy code, you should:

Options: 
A- Add a test first, then change it

B- Rewrite the code instead of changing it

C- Delegate the task to someone else

D- Change the code, then add a test

Answer: 
D

Question 2
Question Type: MultipleChoice



Which life-cycle model is most suitable for running large product development efforts requiring team-of-teams?

Options: 
A- Exploratory

B- Program

C- Kanban

D- Agile

E- Scrum

F- Lean

Answer: 
B

Question 3
Question Type: MultipleChoice

The primary purpose of creating a minimally viable product (MVP) is to:



Options: 
A- Commit to continuous improvement by adding value

B- Establish the validity of a hypothesis by putting a prototype in front of customers

C- Finalize the product design through a series of experiments

D- Create a marketable product complete with useful features

Answer: 
B

Question 4
Question Type: MultipleChoice

Which of the following is NOT a desirable practice in design thinking?

Options: 



A- Be conscious about the constraints in the solution space

B- Being empathetic to the customers

C- Look for solutions appropriate for the situation

D- Make design choices early in the project

Answer: 
D

Question 5
Question Type: MultipleChoice

Which of the following is a process goal relevant to the construction phase of a project?

Options: 
A- Prove architecture early

B- Explore scope

C- Develop test strategy



D- Form team

Answer: 
A

Question 6
Question Type: MultipleChoice

Guided Continuous Improvement is essential when:

Options: 
A- There are no more improvement opportunities left to explore

B- The team finds itself in a method prison

C- The team is looking for help in identifying viable improvement options and avoid risky ones

D- The team cannot figure out improvement opportunities on their own

Answer: 



C

Question 7
Question Type: MultipleChoice

A team working on a product grew from 8 to 12 team members. The Scrum master felt that they need to split into two scrum teams. After

discussion, they decided to stick to one team as it was better for team cohesiveness and delivery. This is an example of:

Options: 
A- Enterprise awareness

B- Being pragmatic

C- Optimize for flow

D- Being Awesome

E- Choice is good

Answer: 
B



Question 8
Question Type: MultipleChoice

True or False: Any step in the value stream that is not necessary for creating the product is waste

Options: 
A- True

B- False

Answer: 
A

Question 9
Question Type: MultipleChoice

True or False: The FLOW view for Disciplined Agile means that there are no starts and stops in any DA project



Options: 
A- True

B- False

Answer: 
B
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